Multiplication et Division par 1 000 (C)

Trouvez chaque produit ou quotient.

72 x1000= 69 +- 1000 =
7+1000= 50+1000=
76 -1 000 = 91 X 1000 =
34 x 1000 = 90 +-1000 =
76 +~1000 = 69 +- 1000 =
19+1000 = 71 x1000 =
63 +1000= 66 X 1000 =
23 x1000= 55+1000=
40 x 1000 = 91 X 1000 =
1x1000= 78 +-1000 =
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Multiplication et Division par 1 000 (C) Solutions

Trouvez chaque produit ou quotient.

72x1000=72000

7+1000=0,007

76 ~1000=0,076

34 x1000=34000

76 +1000=0,076

19+1000=0,019

63 +1000=0,063

23 x1000=23000

40 x 1000 =40000

1x1000=1000

69 - 1000 = 0,069

50-+1000=0,05

91 x1000=91000

90 +~1000=0,09

69 =~ 1000 = 0,069

71 x1000=71000

66 X 1000 =66 000

55-+1000=0,055

91 x1000=91000

78 +1000=0,078
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